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Q.4 fAfafEa d@a sEar ¥ Ted GE1 A 6

121, 169, 289, 361, 529, 576
Ans x 1. 529

‘,' 2.576
x 3.289
x 4. 361
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Q.5 A solid cube of side 8 cm is painted with three different colours on opposite faces, as PAGE 3
shown. If it is cut into cubical blocks each of side 2 cm, then find the number of cubes
which have only two painted sides.
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Ans X 1.26
X 218
X 3.32
,’4.24

Question ID : 6009299866

Q.6 A set of six figures is given, the first of which is unnumbered and represents the
beginning of the series. The series will be established if the positions of two figures
are interchanged. The number of the earlier of the two figures is the correct answer.
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Q.12 fA=fefEd s ¥ g e s & PAGE 5

B2Y, D4W, H8S,
Ans x 1.L120

x 2. P16Q
‘,'3. P16K
x4. K120

Question ID : 6009299849

Q.13 39 fawey FT 997 o S AW 92 F 34 7R F et § 51 TR & g1 U8 Ugl U & wafea
gl

15:210::33: ?
Ans x 1. 995

x 2.999
x 3.1089
,,' 4.1056

Question ID : 6009299855

Q.14 &y T fepeat & A diF ve fAfead aftd A g0 21 grdifes, Tab fdebeq 3/ i &Y ave 781 81 39
e T =g B S 31T q 31T 21

Ans J 1. ACCEPT : TEPCCA
x 2. LEADER : REDAEL

x 3. DEGREE : EERGED

x 4. CREDIT : TIDERC

Question ID : 6009299851




Q.15 3Nl F fE@TT TT IFHAR, T HIIS B /et 7T & 31K 82 fvar man &1 a8 sngpfa &1 ag7 & o

3MTpid Z % 78 AIS MY BU F Aed @relt §
"" U"' o
2 A
X y 4
Ans 1.
A
X oo
0o
A A
2.
X o
o
A A
3.
A
X oo
A A
4.
v 0o
00
A A

Question ID : 6009299867

Q.16 fA=fafEd 1ar sj@en § g ue A1d &

DEG, FGI, HIK, ,LMO
Ans J 1. JKM

x 2. JKL
x 3. JKI
x 4. JLN

Question ID : 6009299848

Q.17 uia wefaai sistfa, arfad, fa, o sik fen ve aw@e § oira €1 siwfe $Y 3mg wrfaet 3§ Qo

2l ﬁmzﬁm%qﬁﬁ’rzﬁsrgﬁmil 3istfet i 3y e Y 3y Y 3meht & 3R fear H 3wy
foram &Y 3mg & A ngagzﬁmﬁwﬁ@rmzméaﬁ?saﬁvsﬁm%ﬁm
S P AT TE 81 10 BX b oera W by S Y 3rgAfa 781 81

Ans x1.31~_r|ﬁr
X 2. far
f 3 faw
X 4 feer

Question ID : 6009299857




Q.18 WA N, Uss s o T &, fors a1 &) fasse | 33 11 g g &1 3nmuest 39 A B T HEAT PAGE 7
Yol € I FHTIa: FTd a7 A =1 wdid 811 31mues) a8 Aot o 2 o fow 1y fAsepef o ¥ i 4,
afg B 2, A f&T T FeA BT 3FIROT FHaT
P Tl i ¥ udel ufai gidt € 3iR Smer urt &Y snaeddsar gl 21

A |: aer v arel U Y 3rfeies U B saegesdr Bl §1
AT 11: A wAie Y Ut Y Y aret TRAAY UR T8 3T S HepdT 21

Ans < 1.1 311 QAT AT N @
X 2. 71 3R 11 3rgaer et ¢
2K 3. A | IFTEROT B &

o 4 P || AR BT &

Question ID : 6009299859

Q.19 Ry 7Ty fJaea) & ¥ A7 v Ffesd aitss A T9H §1 geios, T faded 30 dfiF Bl aRg T8 81 39
ferepeT 1 T B Y 377 A 37T 2

Ans x 1. PONML
x 2. KJIHG
J 3. FDCAB

x 4. ZYXWV

Question ID : 6009299850

Q.20 39 fawey FT 987 o S AW 92 W 3 TR F o § 519 TR J g1 U8 Us U § waifea
gl

20:420::30:?
Ans x 1.995

X 2.1089
X 3.999
vim dddd

Question ID : 6009299861

Section : General Awareness
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Section : Arithmetic Ability
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Question ID : 6009299895

Section : General English

Q.1 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

Disaster has also befallen (many a golfers at this hole.)
Ans x 1. many golfer at this hole.

x 2. No correction required
J 3. many a golfer at this hole.

x 4. many an golfer at this hole.

Question ID : 6009299910

Q.2 Select the most appropriate meaning of the given idiom.

Back seat driver

Ans x 1. Persons who are having different opinions

J 2. People who criticize from the side-lines, much like someone giing uniiianted advice
x 3. In a backward and forward motion
x 4. Having to start all over again

Question ID : 6009299920

Q.3 Fill in the blank with the most appropriate choice.

This excludes all possibility of innate ideas or any faculty akin to reason.
Ans x 1. consultative

x 2. conservative

x 3. constructive

" 4. intuitive

Question ID : 6009299912




Q.4 Fill in the blank with the most appropriate choice. PAGE 17

Even as the man tried to chase him away, the pit bull refused to release his
grip on the little boy.

Ans J 1. tenacious
x 2. judicious
x 3. conscious
x 4. audacious

Question ID : 6009299913

Q.5 The question below consist of a set of labelled sentences. Out of four options given,
select the most logical order of the sentences which form a paragraph.

When his parents moved to Italy in 1893, Einstein dropped out of school and
renounced both his German citizenship and his Jewish faith.

P. He applied to study at the Zurich Polytechnic, an advanced Swiss technical institute.

Q. However, he failed the entrance examinations and was not accepted until spending
a year of preparation at a Swiss secondary school.

R. Between 1896 and 1900, he participated in a teachers’ training program at the Zurich
Polytechnic, where he met his lifelong friends Marcel Grossman and Michele Angelo
Besso, as well as his first wife, Mileva Maric.

S. Following the completion of his program in 1900, Einstein went on to work as a
teacher and tutor in a series of posts in Germany and Switzerland.

He finally settled in Bern, Switzerland, in 1902, where he received a job as a technical
expert in a patent office. In Bern, Einstein married Mileva and the couple raised two
sons together.

Ans x 1. PSQR

J 2. PQRS
x 3. PRSQ

Q.6 Select the most appropriate meaning of the given idiom.

Question ID : 6009299914

Cross your fingers
Ans J 1. To hope that something happens the way you want it to

x 2. Any difficult situation or obstacle

x 3. An unbelievable tale, untrue story

x 4. To make someone laugh

Question ID : 6009299919




Q.7 The sentence below has been divided into three parts. Select the part of the sentence PAGE 1 8
that has an error. If the sentence has no error, select the option ‘No Error'.

Samir has repeatedly said that, "Educators try to put pupils of dissimilar abilities into
classes because they believe that this heterogenous grouping is advisable".

Ans x 1. Samir has repeatedly said that, "Educators try to put pupils of dissimilar abilities

J 2. this heterogenous grouping is advisable".

x 3. No error

x 4. into classes because they believe that

Question ID : 6009299909

Q.8 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans x 1. Inscidous

x 2. Inscidus
J 3. Insidious

x 4. Inscidious

Question ID : 6009299917

Q.9 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

The new mother did great deal of research about the effects of vaccines.
Ans J 1. The new mother did great

x 2. deal of research about

x 3. the effects of vaccines.

x 4. No error

Question ID : 6009299908

Q.10 Select the most appropriate 'one word ' for the expressions given below.

Very attentive to and concerned about accuracy and detail
Ans x 1. Feminist

x 2. Fatalist

J 3. Fastidious

x 4. Fugitive

Question ID : 6009299921




Q.11 Select the word segment that substitutes (replaces) the bracketed word segment PAGE 1 9
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

(Individual summon must be sent to the prelates and greater barons,) while the lesser
barons hill be called together through the sheriffs and bailiffs.

Ans x 1. Individual summons must be sent to the prelates and greater barons,
x 2. Individually summon must be sent to the prelates and greater barons,
x 3. No correction required

J 4. Individual summonses must be sent to the prelates and greater barons,

Question ID : 6009299911

Q.12 Select the most appropriate 'one word ' for the expressions given below.

A person who regards the whole world as his country
Ans x 1. Cynosure

J 2. Cosmopolitan
x 3. Contemporary

x 4. Coquette

Question ID : 6009299922

Q.13 Select the word that is opposite in meaning (ANTONYM) to the word given below

Compassion
Ans x 1. Benevolence

x 2. Concern
J 3. Animosity
x 4. Sympathy

Question ID : 6009299916

Q.14 Select the word that is opposite in meaning (ANTONYM) to the word given below

Nonchalant
Ans x 1. Unconcerned

x 2. Unemotional

J 3. Anxious

x 4. Apathetic

Question ID : 6009299915

Q.15 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans x 1. Predogious
x 2. Prodogious

J 3. Prodigious
x 4. Prodogous

Question ID : 6009299918




Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Do you know the difference between a submarine and a submersible? A submarine is a
watercraft that is capable of independent operation under the sea. Submarines do not require
support ships because submarines can renew their air and power supplies independently.
Submersibles also submerge and operate underwater, but they need the support of a larger
vessel. Submersibles cannot renew their air and power supplies without support. For this
reason submersibles are usually smaller and cannot spend as much time underwater as
submarines.

The first documented submersible was constructed in 1620 by Cornelius Drebbel. It was
powered by rowing oars underwater. Though this craft was originally designed for underwater
exploration, it did not take long for inventors and makers of war to recognize the military
potential of the submersible. In 1648 Bishop John Wilkins wrote, “It may be of great
advantages against a Navy of enemies, who by this may be undermined in the water and
blown up.” Over one-hundred years later, the first military submarine was ready to be
deployed.

The Turtle was the world’s first submarine used in combat. Designed by David Bushnell in
1775, it was deployed by the Continental Army during the American Revolutionary War.
Though the Turtle did utilize a support ship in combat, it was fully capable of renewing its air
and power supplies independently; therefore, the Turtle is considered to have been a
submarine and not a submersible. The Turtle was powered by hand-cranked propellers and
was named as such because it resembled a turtle. It held a single person, moved about three
miles per hour in calm water, and contained enough air to stay submerged for about thirty
minutes. General Washington authorized an attack using the Turtle on a British flagship
blockading New York Harbour. Sgt. Ezra Lee operated the Turtle and attempted to affix
underwater explosives to the British ship, but he failed. The Turtle was later destroyed by the
British. Despite this failure, the Turtle is still remembered as the first submarine used
offensively during war.

SubQuestion No : 16
Q.16 According to the passage, which of the following statement is correct?

Ans x 1. Submersibles are capable of independent operations under the sea while

submarines are not.

J 2. Submersibles need the suppaort of larger vessels to renew thejr air and power
supplies.

x 3. Submersibles are larger than submarines. a

x 4. Submarines operate underwater independently u t

underwater.
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Do you know the difference between a submarine and a submersible? A submarine is a
watercraft that is capable of independent operation under the sea. Submarines do not require
support ships because submarines can renew their air and power supplies independently.
Submersibles also submerge and operate underwater, but they need the support of a larger
vessel. Submersibles cannot renew their air and power supplies without support. For this
reason submersibles are usually smaller and cannot spend as much time underwater as
submarines.

The first documented submersible was constructed in 1620 by Cornelius Drebbel. It was
powered by rowing oars underwater. Though this craft was originally designed for underwater
exploration, it did not take long for inventors and makers of war to recognize the military
potential of the submersible. In 1648 Bishop John Wilkins wrote, “It may be of great
advantages against a Navy of enemies, who by this may be undermined in the water and
blown up.” Over one-hundred years later, the first military submarine was ready to be
deployed.

The Turtle was the world’s first submarine used in combat. Designed by David Bushnell in
1775, it was deployed by the Continental Army during the American Revolutionary War.
Though the Turtle did utilize a support ship in combat, it was fully capable of renewing its air
and power supplies independently; therefore, the Turtle is considered to have been a
submarine and not a submersible. The Turtle was powered by hand-cranked propellers and
was named as such because it resembled a turtle. It held a single person, moved about three
miles per hour in calm water, and contained enough air to stay submerged for about thirty
minutes. General Washington authorized an attack using the Turtle on a British flagship
blockading New York Harbour. Sgt. Ezra Lee operated the Turtle and attempted to affix
underwater explosives to the British ship, but he failed. The Turtle was later destroyed by the
British. Despite this failure, the Turtle is still remembered as the first submarine used
offensively during war.

SubQuestion No : 17
Q.17 According to the passage, which of the following statement is incorrect?

Ans x 1. The first ever submersible wasn't designed for military application.

x 2. The Continental Army deployed the first ever submarine in a war.

x 3. The Turtle was different from other submersible as it didn't n any external
support and hence it was called a submarine.
J 4. Cornelius Drebbel designed the first submarin
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A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Do you know the difference between a submarine and a submersible? A submarine is a
watercraft that is capable of independent operation under the sea. Submarines do not require
support ships because submarines can renew their air and power supplies independently.
Submersibles also submerge and operate underwater, but they need the support of a larger
vessel. Submersibles cannot renew their air and power supplies without support. For this
reason submersibles are usually smaller and cannot spend as much time underwater as
submarines.

The first documented submersible was constructed in 1620 by Cornelius Drebbel. It was
powered by rowing oars underwater. Though this craft was originally designed for underwater
exploration, it did not take long for inventors and makers of war to recognize the military
potential of the submersible. In 1648 Bishop John Wilkins wrote, “It may be of great
advantages against a Navy of enemies, who by this may be undermined in the water and
blown up.” Over one-hundred years later, the first military submarine was ready to be
deployed.

The Turtle was the world’s first submarine used in combat. Designed by David Bushnell in
1775, it was deployed by the Continental Army during the American Revolutionary War.
Though the Turtle did utilize a support ship in combat, it was fully capable of renewing its air
and power supplies independently; therefore, the Turtle is considered to have been a
submarine and not a submersible. The Turtle was powered by hand-cranked propellers and
was named as such because it resembled a turtle. It held a single person, moved about three
miles per hour in calm water, and contained enough air to stay submerged for about thirty
minutes. General Washington authorized an attack using the Turtle on a British flagship
blockading New York Harbour. Sgt. Ezra Lee operated the Turtle and attempted to affix
underwater explosives to the British ship, but he failed. The Turtle was later destroyed by the
British. Despite this failure, the Turtle is still remembered as the first submarine used
offensively during war.

SubQuestion No : 18
Q.18 When was the first documented submersible constructed?
Ans ', 1. 1620

x 2. 1596
x 3. 1648
x 4.1175
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A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Do you know the difference between a submarine and a submersible? A submarine is a
watercraft that is capable of independent operation under the sea. Submarines do not require
support ships because submarines can renew their air and power supplies independently.
Submersibles also submerge and operate underwater, but they need the support of a larger
vessel. Submersibles cannot renew their air and power supplies without support. For this
reason submersibles are usually smaller and cannot spend as much time underwater as
submarines.

The first documented submersible was constructed in 1620 by Cornelius Drebbel. It was
powered by rowing oars underwater. Though this craft was originally designed for underwater
exploration, it did not take long for inventors and makers of war to recognize the military
potential of the submersible. In 1648 Bishop John Wilkins wrote, “It may be of great
advantages against a Navy of enemies, who by this may be undermined in the water and
blown up.” Over one-hundred years later, the first military submarine was ready to be
deployed.

The Turtle was the world’s first submarine used in combat. Designed by David Bushnell in
1775, it was deployed by the Continental Army during the American Revolutionary War.
Though the Turtle did utilize a support ship in combat, it was fully capable of renewing its air
and power supplies independently; therefore, the Turtle is considered to have been a
submarine and not a submersible. The Turtle was powered by hand-cranked propellers and
was named as such because it resembled a turtle. It held a single person, moved about three
miles per hour in calm water, and contained enough air to stay submerged for about thirty
minutes. General Washington authorized an attack using the Turtle on a British flagship
blockading New York Harbour. Sgt. Ezra Lee operated the Turtle and attempted to affix
underwater explosives to the British ship, but he failed. The Turtle was later destroyed by the
British. Despite this failure, the Turtle is still remembered as the first submarine used
offensively during war.

SubQuestion No : 19
Q.19 In which war was the Turtle first deployed?
Ans J 1. American Revolutionary War

x 2. Mexican-American War

x 3. War of 1812

x 4. World War 1
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A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Do you know the difference between a submarine and a submersible? A submarine is a
watercraft that is capable of independent operation under the sea. Submarines do not require
support ships because submarines can renew their air and power supplies independently.
Submersibles also submerge and operate underwater, but they need the support of a larger
vessel. Submersibles cannot renew their air and power supplies without support. For this
reason submersibles are usually smaller and cannot spend as much time underwater as
submarines.

The first documented submersible was constructed in 1620 by Cornelius Drebbel. It was
powered by rowing oars underwater. Though this craft was originally designed for underwater
exploration, it did not take long for inventors and makers of war to recognize the military
potential of the submersible. In 1648 Bishop John Wilkins wrote, “It may be of great
advantages against a Navy of enemies, who by this may be undermined in the water and
blown up.” Over one-hundred years later, the first military submarine was ready to be
deployed.

The Turtle was the world’s first submarine used in combat. Designed by David Bushnell in
1775, it was deployed by the Continental Army during the American Revolutionary War.
Though the Turtle did utilize a support ship in combat, it was fully capable of renewing its air
and power supplies independently; therefore, the Turtle is considered to have been a
submarine and not a submersible. The Turtle was powered by hand-cranked propellers and
was named as such because it resembled a turtle. It held a single person, moved about three
miles per hour in calm water, and contained enough air to stay submerged for about thirty
minutes. General Washington authorized an attack using the Turtle on a British flagship
blockading New York Harbour. Sgt. Ezra Lee operated the Turtle and attempted to affix
underwater explosives to the British ship, but he failed. The Turtle was later destroyed by the
British. Despite this failure, the Turtle is still remembered as the first submarine used
offensively during war.

SubQuestion No : 20

Q.20 What was the purpose of the first submersible?

Ans

x 1. underwater stealth operations

x 2. underwater military applications

J 3. underwater exploration
x 4. underwater warfare a
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B .

T e 30T 3 Y & A, Weds YeT ST 3ferredt & g
e foraes v § 3nft O 2 e &Y srfvarT

Tep Gge! o 3 W < 2

A, &H § R4, 9 fOoR g,

W TRIT ST G STACTT aTel! HTHT 39T MY aToft & S &7 & &l
TH 11 1T 38 &1, el B R b e

TI-UewTd TR 3T B foB0T, g 7Y ST 8 &Y

T S fSeRTd 81 W, fRI-31fel FHT, Ul T IETIRd B Uep fawor &
3BT HY /1T 3TTeAfSRd Y all

T W 396 WY A1) 7 § S a1 2l

T e fehv0T 3 WY & Q1 Weds AT Y iR O a9 |

SubQuestion No : 17
Q.17 Ffa aoft & FB e fodt 7 & foig g @1 772
Ans X 1. ToRY ot T o TRl wgamT &

2 2. TSRY 9YerT 9gd Teie @
X 3. foidr 319 Sitfd & & e e
of 4. ST 37 g BT Sifiieaa BT e T @

Question ID : 60092910128

Comprehension:

ffafad sreter @t wmyde ufey 3R 399 Twiftd wedl & U 77 agfaeel § & JEt faded &1

g .

T e fIR0T 3 Y < A, e YeT St ferredt & g
s e 77 # 3l A & e bl stfiarsT

T Gge! o 3 WY 2 2

A, &H § R4, 9 IR & argpa,

W TIT ST g STACTT aTell HTHT 39! Hi dTofl & HS &7 < Al
qH S T 38 B, FEi el OR b

Tq-Yoed WX 37THT B 0T, A <Y ST 3R &
A S faERTd 8y O, IRl |, 92 I 3@ e U
3BT Y /1T 31TeAIfehd Y all

T W& 396 H A1 7 9 ST a3 &l
T GG 10T 3 HY & ATl Heeh T ST 3TN & o H

SubQuestion No : 18
Q.18 Bfd fFad 79 ¥ W WA & {7 Fg W/ 8?2
Ans ,1.GITU2IW€TTRIT§

27X 2. Ford W St e §
7< 3. i ur e 3o & e & fefe
p L R

Question ID : 60092910129




Comprehension:

FAfafed wreier B wHgde afey 3R 399 Frifod gedl & Qg 0 agfaeedl # 3 He fawmed ol

B .

T e 30T 3 Y & A, Weds YeT ST 3ferredt & g
e foraes v § 3nft O 2 e &Y srfvarT

Tep Gge! o 3 W < 2

A, &H § R4, 9 fOoR g,

W TRIT ST G STACTT aTel! HTHT 39T MY aToft & S &7 & &l
TH 11 1T 38 &1, el B R b e

TI-UewTd TR 3T B foB0T, g 7Y ST 8 &Y

T S fSeRTd 81 W, fRI-31fel FHT, Ul T IETIRd B Uep fawor &
3BT HY /1T 3TTeAfSRd Y all

T W 396 WY A1) 7 § S a1 2l

T e fehv0T 3 WY & Q1 Weds AT Y iR O a9 |

SubQuestion No : 19
Q.19 Tl ¥ Bfd et foseor {6 & & g w8 w1 82
Ans X 1. {16 UrH 9gd B ¢ dem AR B et @

27X 2. St et et ot St 3 ver ¢
2K 3. i 37 G HT e T e
f 4 e w1 3l ft po ey B ame 8

Question ID : 60092910127

Comprehension:

ffafad sreter @t wmyde ufey 3R 399 Twiftd wedl & U 77 agfaeel § & JEt faded &1

B .

T e fIR0T 3 Y < A, e YeT St ferredt & g
s e 77 # 3l A & e bl stfiarsT

T Gge! o 3 WY 2 2

A, &H § R4, 9 IR & argpa,

W TIT ST g STACTT aTell HTHT 39! Hi dTofl & HS &7 < Al
qH S T 38 B, FEi el OR b

Tq-Yoed WX 37THT B 0T, A <Y ST 3R &

A S faERTd 8y O, IRl |, 92 I 3@ e U
3BT HT HTRT 37Tclded & all

T W& 396 H A1 7 9 ST a3 &l

T GAEe! fehv0T 3 WY & Q1 Weds AT Y 31RO a9 H|

SubQuestion No : 20
Q.20 T 7Y famea ¥ A Bi-AT1 TG HT FHFAT 2 TE 32
Ans x 1. 3R
X 2. 9
f 3 TR
X 4.39®

Section : Teaching Methodology

dda

Question ID : 60092910130




Q.1 5 Y FfeuTiira & e 31fdies F2rer <aAT @Y geraT & b faT 3uTTH & ®U o 9T
Srar 21

Ans X 1. feiep e
X 2. et s
x:s.nfv:eé’lﬁeﬂamir
o 4 Topfeepa demmft

Question ID : 60092910150

Q.2 fHE gduem gfg afer oeg mer?
Ans x 1. 88 1 b

xz.gaﬁtna?vha
X 3. g€ et
‘,'4.ﬁﬁmm€:f

Question ID : 60092910148

Q.3 P A1 figia Teree sAfdem= gri fasar w2
Ans x111’ct|3,’95ﬁ25

27X 2. Ffdearsor

o 3. e s

X 4. wdteror gd 3fe

Question ID 60092910134

N\ - - — - - o— =

Q.4 R, fEat fEu 7y fowa v =@l &1 & 3228 A AN 6 Tebaileiur & ®BU W GRUTSd fham ST Jepar

27
Ans X 1. AT
- ddda

x3.3ﬂ’cb_<rFT
‘,4@11‘4?1?

Question ID : 60092910141

Q.5 fiAfafEd ¥ A w1 ADHD &1 fiRaR 22
Ans X1.312‘2H3155@2W‘€2H%H31ﬁ?

X 2. e fethfda arRfaefadt fewsiiey
X 3. e Sftpferdiat arfafadt feasitse
o 4. e Sffie aRfaefad fsusie

Question ID : 60092910145




Q.6 f2ien & YT R B, fRlgrs, Aeifvie Fwam 3ik E{ PAGE 69
Ans x 1. BT

Jz.mq
xaqﬁa%:r
x4.?€ﬂ?ﬂ

Question ID : 60092910137

Q.7 fFad gval W FeATes uRada 3R fawef enfie 8, fSa s & 307 79 § faai &t
feranf=ia &3 Bt graT T fawaR ¥ H Aeg fAerdt 87

Ans J1.:ﬂ?‘cﬁ
xz.a?q

xa.aa—oﬂ
X 4. are-fdare

Question ID : 60092910151

Q.8 goIa Afger a=a B! faaRyde g B HET 1A &
Ans ,1.“‘%?“5[{[3?1

X 2. BT gl
X 3. g gl
X4.qﬁm:ﬁ%@1cr

Question |D 60092910138

N\ - - — - - o— =

Q.9 Learning disabilities in language is known as

Ans x 1. Dysgraphia
x 2. Dyslexia a a
J 3. Dysphasia

x 4. Dyspraxia

Question ID : 60092910146

Q.10 gvgﬂ?é@wasm saEdT-afedEdn AT &1 3R F Bt ugfa &
I
Ans  off 1. 3TRIE STefler wfsba yoreft
27X 2. ¥ AT et
X 3. wwifdfae
X 4 el

Question ID : 60092910149




Q.11 What describes student’s performance or progress in relation to others of the same PAG E 70
peer group, age or ability?

Ans x 1. Criterion - referenced Interpretation
x 2. Planned Interpretation
x 3. Summarised Interpretation

J 4. Norm - referenced Interpretation

Question ID : 60092910142

Q.12 Which parenting is characterised by the use of harsh disciplinary methods and refusal
to justify disciplinary actions?

Ans x 1. Permissive Parenting
x 2. Low Socio-economic Status
J 3. Authoritarian Parenting

x 4. Peer Association

Question ID : 60092910144

Q.13 TR & difges faem & fosa avor §, Aise 3iR AT &1 3980 e 31feTa wTe fasan o wear 872
Ans x 1. gIUfeRed WoT

x2.31ﬁ'l=rﬂ'\TUT
Js.gmw
X4.§ra1¢a'\fw

Q.14 YR A1gA 1fRfTad P {5 uRT & T2d, TAIPR & FB qobanl d Lk
3IHI AT ST AT 82
Ans X 1.376(A) a

x 2.228A
x 3. 164A
‘/4. 114A

Question ID : 60092910140

Q.15 ag ufeear & i garfet & 13 deer ®Y H& @fva e HY smaeadsar 21
Ans X 1. BT

JZ.HTSFUT

/X 3. At

X4.HTEH

Question ID : 60092910136




Q.16 3TER W ARG &7 21 & et 3w starad F waitert & for fisar PAGE 71

Question ID : 60092910143

Q.17 1 372f § T pfam 3 3R Wi wfdfsrar & der ey AT
Ans X 1. Bfeers ey

X 2. srdbfeerts fega

X 3. g R

o 4 IR

Question ID : 60092910132

Q.18 TR TRaT P TA1-arHIfSie e & fbgia & g wRur ¥, afa fhd) 31 aafa & grer af s
Ty & ufd GfTssdr a1 wfdagar Y viaaT fGeafada Har 22

Ans x1.ﬂTUTIV

XZ.ER'UTV
xs.Q%GrVII

J4.T:R’UTVI

l Question ID": 60092910147
Q.19 31T WITE T Aeeh, IETR @I Siide STAT 2T
Ans x 1. farerar
x 2. 9

xa.mﬁ
J4.éaaﬁuf

Question ID : 60092910139

Q.20 %\mkm S-SR AN 3 U |1 BT o, eadg Teivee R it v ¥ fafoad
? ?

Ans X1.3ﬂ=ﬁﬁﬁ®3‘cﬁw’rﬁwﬁ
f 2. e e
X 3. ums weifaw
X4.WWQW

Question ID : 60092910135




